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	1.
	Which of the following is true?

	

		A.
	



	B.
	



	C.
	



	D.
	








	2.
	Nowell wants to fence a square pen in his backyard for his pet ostrich. He wants the pen to have an area of 322 square feet. How wide should the pen be?
 

	

		A.
	
 
	B.
	
 
 

	C.
	
 
	D.
	
 






	3.
	
 

	

		A.
	imaginary

	B.
	natural

	C.
	rational

	D.
	irrational






	4.
	

	

		A.
	4

	B.
	- 8

	C.
	8

	D.
	- 4






	5.
	Sarah wants to increase the distance she runs. If she wants to increase her distance at a rate of 0.5 miles per week, which graph represents this rate of increase?
 

	

		A.
	
 
	B.
	
 

	C.
	
 
	D.
	
 






	6.
	Gwen bought five pounds of oranges for $4.50. She wants to draw a graph of the proportional relationship with the x-axis representing the number of pounds of oranges. She knows that she can draw the graph if she has the slope. Gwen concludes that the slope of the graph is 4.5. Which of the following is true about Gwen's conclusion?
 

	

		A.
	Gwen is incorrect. The slope of the graph is the unit rate, which is $1.11 per pound of oranges.

	B.
	Gwen is incorrect. The slope of the graph is the unit rate, which is $0.90 per pound of oranges.

	C.
	Gwen correctly concluded that the slope of the graph is 4.5.

	D.
	Gwen is incorrect. The slope of the graph cannot be found with the given information.




	7.
	Two car rental companies have pay structures that are proportional regardless of the miles driven. According to the information below, which car rental company charges more per mile?
 
Company A: cost = $1.25(number of miles)
 
Company B: 27 miles cost $33.75, and 47 miles cost $58.75
 

	

		A.
	Company A charges more per mile.

	B.
	Company B charges more per mile.

	C.
	The companies charge the same cost per mile.

	D.
	There is no way to find the cost per mile for either company.







	8.
	Markus is studying the trend in gasoline prices over the last six years. His findings are shown in the table below.
 

 
Markus created the graph below to represent the data in the table above.
 

 
Markus's friend Matthew says that the graph is incorrect because the relationship should be proportional. Which of the following is true about the graph?
 

	

		A.
	The graph is not correct. Markus switched the x- and y-values for four of the points (1, 2.84), (2, 3.30), (3, 2.41), and (6, 3.68). Graphing the new points shows a proportional relationship.

	B.
	The graph is not correct. Markus switched the x- and y-values for two of the points (2.84, 4) and (3.58, 5). Graphing the new points shows the relationship is not proportional.

	C.
	The graph is not correct. It is impossible to tell if a relationship is proportional from a graph.

	D.
	Markus's graph is correct so Matthew is incorrect about the relationship being proportional.




	9.
	The graph below shows the number of hours that Lucas worked each week and the amount he earned that week. Find the slope of the line passing through the points. Which of the following is the best estimate and interpretation of the slope?
 

 

	

		A.
	The slope of the line passing through the points is 7.50. The slope represents the amount of money Lucas makes per hour.

	B.
	The slope of the line passing through the points is 7.50. The slope represents the amount of money Lucas will make when he works 0 hours.

	C.
	The slope of the line passing through the points is 0.13. The slope represents the amount of money Lucas makes per hour.

	D.
	The slope of the line passing through the points is 0.13. The slope represents the amount of money Lucas will make when he works 0 hours.






	10.
	Consider the graph below.
 

 
Which of the following correctly describes the slope of the line between points A and B and the slope of the line between points C and D?
 

	

		A.
	Since the distance between A and B equals the distance between C and D, the slopes are the same.

	B.
	Since the distance between A and B does not equal the distance between C and D, the slopes are not the same.

	C.
	Since the ratio of the vertical change to the horizontal change from A to B does not equal the ratio of the vertical change to the horizontal change from C to D, the slopes are not the same.

	D.
	Since the ratio of the vertical change to the horizontal change from A to B equals the ratio of the vertical change to the horizontal change from C to D, the slopes are the same.




	11.
	Peyton is analyzing the functions below.
 

 
Peyton says that he has two proportional relationships and that the rate of change is higher in the equation than in the graph. Which of the following statements is true?
 

	

		A.
	Peyton is correct. The relationships are proportional because each has a constant rate of change, and the rate of change in the equation is greater than the rate of change in the graph.

	B.
	Peyton is correct that the relationships are proportional because each has a constant rate of change. Peyton's comparison is incorrect because the rate of change in the graph is greater than the rate of change in the equation.

	C.
	Peyton is correct that the relationships are proportional because each has a constant rate of change. Peyton's comparison is incorrect because the rates cannot be compared since the relationships are represented in different forms.

	D.
	Peyton is incorrect in calling the relationships proportional because while they have a constant rate of change, they do include the point (0, 0), so they are not proportional.







	12.
	
 

 

 

	

		A.
	Since the triangles are not similar, they can be used to show that the slope of a line changes depending on the two points selected from the line.

	B.
	Since the triangles are not similar, they cannot be used to show that the slope of a line changes depending on the two points selected from the line.

	C.
	Since the triangles are similar, they can be used to show that the slope of a line is the same no matter which points are selected from the line.

	D.
	Since the triangles are similar, they cannot be used to show that the slope of a line is the same no matter which points are selected from the line.






	13.
	Which of the following lines pass through the origin?
 
I.     y = 12x
II.    y = 3x + 5
III.   y = x 
IV.   y = x - 7
 

	

		A.
	I, II, III, and IV

	B.
	I, III, and IV

	C.
	II and IV

	D.
	I and III






	14.
	The graph of which of the following equations passes through the y-axis at a point other than the origin?
 

 

	

		A.
	III and IV

	B.
	I and II

	C.
	I, II, and III

	D.
	II and III






	15.
	Which value best represents point A on the number line below?
 
          
 

	

		A.
	

	B.
	

	C.
	

	D.
	






	16.
	Compare.
 
          
 

	

		A.
	=

	B.
	+

	C.
	<

	D.
	>






	17.
	Compare.
 
          
 

	

		A.
	>

	B.
	<

	C.
	=

	D.
	+






	18.
	Which of the following can definitely be described as irrational?
 

	

		A.
	a non-repeating decimal

	B.
	a non-terminating, repeating decimal

	C.
	a non-repeating, terminating decimal

	D.
	a non-terminating, non-repeating decimal






	19.
	Which number is rational?
 

	

		A.
	

	B.
	

	C.
	

	D.
	






	20.
	The scatter plot below shows the relationship between the average annual
temperature and the elevation of a land region.
 
           
 
Which of these statements is true based on information from the scatter plot?
 

	

		A.
	The average annual temperature increases when the elevation increases.

	B.
	The average annual temperature decreases when the elevation increases.

	C.
	The average annual temperature becomes stable after the elevation of 1,000 feet.

	D.
	The average annual temperature decreases when the elevation decreases.






	21.
	The scatter plot below shows the relationship between the amount of rainfall during the days of the first four months of the year in a certain area.
 
          
         
Based on the scatter plot, which of these statements is true?
 

	

		A.
	The amount of rainfall is constant throughout the months.

	B.
	The amount of rainfall increases from January to April.

	C.
	The amount of rainfall decreases from January to April.

	D.
	The amount of rainfall will continue to increase throughout the rest of the year.




	22.
	The owner of the local gym is conducting some research to find out if his treadmill is consistent in its measurements of the number of calories people burn in a certain amount of time. In order to figure this out, he asked 10 people around the same weight to walk on the treadmill for varying lengths of time at the same treadmill settings. If the following table shows the data the owner of the gym collected, which graph best represents the relationship between the amount of time people spent on the treadmill and the number of calories they burned?
 
          
 

	

		A.
	
 
	B.
	
 

	C.
	
 
	D.
	
 







	23.
	Which of the following graphs represents the line of best fit for the scatter plot?
 

	

		A.
	
 
	B.
	
 

	C.
	
 
	D.
	
 






	24.
	The following graph shows the cost of a house based on square footage in one town. Based on this graph, which statement below is true about the cost when adding 1,000 square fee to the size of a house?
 
          
 

	

		A.
	The price of the house increases by $125,000.

	B.
	The price of the house decreases by $125,000.

	C.
	The price of the house increases by $150,000.

	D.
	None of these statements are true.






	25.
	The graph below shows the average number of male and female participants in a citywide science fair.
 

 
Which of the following best interprets the plot?
 

	

		A.
	The two variables do not appear to be related. There is random scatter in the data.

	B.
	The two variables appear to be related. As the participation for males increases, the participation for females decreases.

	C.
	The two variables appear to be related. As the participation for males increases, the participation for females also increases.

	D.
	The two variables appear to be related. As the participation for males decreases, the participation for females increases.




	26.
	The data in the scatter plot below represents the selling price of a home plotted against the list price for the home. A trend line with the equation y = x - 10 has been fitted to the data. Use the line to predict the selling price for a home that is listed at $210,000.
 

 

	

		A.
	$190,000

	B.
	$200,000

	C.
	$210,000

	D.
	$220,000







	27.
	Every quarter, a school hosts a stock market game to see whether students are better at predicting the performance of the stock market than darts that are randomly thrown at a board containing the names of stocks. The data in the graph below shows the percentage gain of the Dow Jones Industrial Average plotted against the stocks selected by randomly throwing a dart. The data covers all games played from 1995 to 1998.
 

 
What interpretation can be made about the relationship between the predictions made by the darts and the actual performance of the Dow?
 

	

		A.
	There does not appear to be a relationship between the percentage gain of the dart stocks and the percentage gain of the Dow.

	B.
	As the percentage gain of the dart stocks increases, the percentage gain of the Dow also increases.

	C.
	As the percentage gain of the dart stocks decreases, the percentage gain of the Dow increases.

	D.
	As the percentage gain of the dart stocks increases, the percentage gain of the Dow decreases.






	28.
	 
 

 

 

	

		A.
	

	B.
	

	C.
	

	D.
	




	29
	Fifty male teachers and 60 female teachers are scheduled to attend a conference. It so happens that only 20% of the male teachers and 50% of the female teachers attended the conference. Which two-way table represents this information?
 

	

		A.
	
 

	B.
	
 

	C.
	 


	D.
	
 






	30.
	The Center for Disease Control has developed a new test for the squirrel flu. Unfortunately, for patients who have the flu, the test only returns a positive result 75% of the time and is inconclusive 12% of the time. For patients who do not have flu, the test gives a positive result 10% of the time and is inconclusive 8% of the time. Which two-way table represents the data?
 

	

		A.
	
 

	B.
	
 

	C.
	
 

	D.
	
 







	31.
	Kevin is the director of a summer camp. He works with two schools to survey the student's activity over the summer, According to the survey, 48% of school A students completed the summer reading, and 19% of school B students did not complete the reading. Also, 43% of school A students and 82% of school B students attended summer camp. Based on the survey, Kevin constructs a two-way table for the information contained in the problem above. His work is shown below.
 

 
Which of the following is true?
 

	

		A.
	Kevin's table is not correct. His column totals do not add to 100.

	B.
	Kevin's table is not correct. He interchanged the attending and not attending summer camp for school A.

	C.
	Kevin's table is not correct. He interchanged the completing and not completing the summer reading for school B.

	D.
	Kevin's table is correct.






	32.
	Rashid conducted a survey of 100 adults where he found that 40 adults like rock music and 51 adults like pop music. In an identical survey of 100 children he found that 18 children like pop music and 67 children like rock music. The rest of the participants do not have any preference. Rashid drew the table below to represent his findings.
 

 
Which of the following is true about Rashid's work?
 

	

		A.
	Rashid's table is not correct. He switched the entries for the adults and the children.

	B.
	Rashid's table is not correct. He switched the entries for likes rock music and likes pop music for the adults.

	C.
	Rashid's table is not correct. The columns do not add to 100.

	D.
	Rashid's table is correct.






	33.
	The table below shows the results of people that picked various colas in a blind taste test.
 

 
Which of the following conclusions is true?
 

	

		A.
	The majority of participants were aged 25 to 40 years old.

	B.
	The majority of participants selecting Cola C were aged 16 to 24 years.

	C.
	The majority of participants 41 and older selected Cola C.

	D.
	The majority of participants 25 to 40 years old selected Cola B.






	34.
	The city council conducted a survey to determine how citizens rank feel about the location in two playground proposals. The results are in the table below.
 

 
Based on these results, which of the following conclusions can be made?
 

	

		A.
	Of those surveyed, 14% approve of the location of playground B.

	B.
	Of those surveyed, 50% approve of the location of playground A.

	C.
	More citizens declined to answer regarding the location for playground A than declined to answer regarding the location for playground B.

	D.
	More citizens do not approve of the location for playground A than do not approve of the location for playground B.






	35.
	Mrs. Petrov has her class conduct a survey every year about the length of lunch. The results of the survey from 2008 and 2012 are in the two-way table below.
 

 
Which of the following conclusions can be made from the results of the survey?
 

	

		A.
	More polled students believed in keeping lunch the same length in 2008 than in 2012.

	B.
	Fewer polled students believed in longer lunch in 2012 than in 2008.

	C.
	In 2012, more polled students believed that lunch should be shorter than those who believed that lunch should be longer.

	D.
	The results of the poll did not change from 2008 to 2012.






	36.
	Fill in the blank.


 If mBEC is equal to 80°, mDEC is equal to 100°, and AEC is a straight angle, then BEC and DEA are ______________.

	

		A.
	complementary angles

	B.
	supplementary angles

	C.
	vertical angles

	D.
	right angles






	37.
	Given the figure below, where line f is parallel to line g, which of the following are corresponding angles?



	

		A.
	1 and 13

	B.
	1 and 3

	C.
	1 and 4

	D.
	1 and 7






	38.
	Troy broke a window while playing baseball. The glass will be delivered in 2 days. To cover the window in the meantime, Troy puts up a diagonal brace and a piece of plywood over it. The top of the window is parallel to the bottom and the sides are parallel with each other. If the angle on the bottom left side of the brace is 113°, what is the angle on the top right side?



	

		A.
	23°

	B.
	113°

	C.
	67°

	D.
	not enough information






	39.
	The sign for a new music store is going to include the two images of a guitar. Which of the following pairs of transformations would move the first guitar on top of the second?
 
         
 

	

		A.
	reflection and rotation

	B.
	rotation and translation

	C.
	translation and reflection

	D.
	dilation and translation






	40.
	Determine the new coordinates for point D, if parallelogram ABCD is dilated with a center of dilation at the origin and a scale factor of 0.5.
 
          
 

	

		A.
	(-8, 0)

	B.
	(-6, 0)

	C.
	(-2, 0)

	D.
	(0, 0)






	41.
	Find the new coordinates for point A, if rectangle ABCD is reflected across the y-axis.
 
          
 

	

		A.
	(-4, -2)

	B.
	(-4, 2)

	C.
	(4, -2)

	D.
	(4, 2)






	42.
	
 
          
 

	

		A.
	(5, -1)

	B.
	(5, 1)

	C.
	(-5, -1)

	D.
	(-5, 1)






	43.
	
 

 

	

		A.
	

	B.
	

	C.
	

	D.
	.






	44.
	Given the reflected triangles in the diagram below, which congruency statement is correct?
 

 

	

		A.
	

	B.
	

	C.
	

	D.
	






	45.
	Mrs. Billings gives her students the triangles below created by performing a rotation and asks them to state which angle is congruent to angle C.
 

 
Stacie tells her friend Joelle that angle C is congruent to angle E. Joelle says she is wrong and that angle C is congruent to angle D. Which of the following statements correctly describes the students' work?
 

	

		A.
	Stacie is correct. Angle C and angle E are both located on the lower right hand corner of the triangles, so they must be congruent.

	B.
	Stacie is correct. Angle C and angle D are both the middle angles, so they must be congruent.

	C.
	Joelle is correct. Angle C and angle D are both opposite the side with a length of 11 centimeters, so they must be congruent.

	D.
	Neither student is correct. Since the triangles are the result of a rotation, angle measure is not preserved.






	46.
	
 

 

 

	

		A.
	

	B.
	

	C.
	

	D.
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